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Repeat after each sentence.
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Repeat after each sentence.
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Repeat after each sentence.

A. Intentional Usage (First person)
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B. Conjectural Usage
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Repeat after each sentence.
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Repeat after each sentence.
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Repeat after each sentence.

"I thought it would be ~ " "I knew it would be ~ *
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Jeid o EHO 8.
(2CH 0l Y310t 2 B LUK, 0l Y310t 2 & LU0
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(2CH D NS & 5 LYK, D AR ¢ & U0

"I thought it was ~ " 'l knew it was ~ "
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(ZCH 0l 2 = 2ANR. HOI 02 & LUANR.
80 A& ot R.
(ZCH &0l & = AR, H0l H = LA K.

8O JtZulR.

i

"l thought ( ~ to be true) " "l knew ( ~ to be true)”
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(013 DICH T4DF 018 2+ 2 2012, 4T} 018 2F 5 LA0IR.
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"s/he thinks ( ~ to be true) " 's/he knows ( ~ to be true) "
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*/f you substitute ' A0/ L' with 'E2t0/ L2, ' the sentence would mean "l did not know/expect ( ~ to be true)."
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Repeat after each sentence.
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